
1 TOP 1 1       PARTICLEBOARD
2 FAUX PED LARGE GABLE 1 1       PARTICLEBOARD
3 FAUX PED SHORT GABLE 1 1    PARTICLEBOARD
4 FAUX PED BACK 1 1    PARTICLEBOARD
5 MODESTY PANEL 1 1       PARTICLEBOARD
6 MODESTY SIDE 1 1      PARTICLEBOARD
7 ALUMINIUM CLEAT / COVER 1 1      ALUMINIUM
8 GROMMET 1 1       PLASTIC
9  LEVELER 6 6       STEEL/PLASTIC
10 SCREWS/BOLTS 34  34        STEEL
11 LEG 1 1         STEEL

 

ITEM DESCRIPTION QUANTITIES MATERIAL

Disassembly  Instructions

Extended Corner Island (Faux Ped)

ZIRA

Safety Glasses

Rubber Mallet

PHILLIPS
Screwdriver  size  #2 1

3

4
11

7

2

95
6

8

WRENCH
Size  #16 or 5/8”

TOOLS REQUIRED

STEPS

N OT E :  A n y  a l t e r a t i o n s  t o  l i s t e d  c o m p o n e n t s  w i l l  vo i d  t h e  m a n u f a c t u re r ’s  w a r r a n t y.  Th e  m a n u f a c t u re r  w i l l  n o t  b e  re s p o n s i b l e  f o r  a n y  d a m a g e  o r  b o d i l y  h a r m  c a u s e d  b y  a l t e r a t i o n s  i n  a c c o rd a n c e  w i t h  n a t i o n a l  o r  l o c a l  

e l e c t r i c a l  c o d e s  a n d  m a n u f a c t u re r ’s  s p e c i fi c a t i o n s .  I n  a c c o rd a n c e  w i t h  t h e  m a n u f a c t u re r ’s  p o l i c y  o f  c o n t i n u a l  p ro d u c t  i m p ro ve m e n t,  t h e  p ro d u c t  p re s e n t e d  i n  t h i s  d o c u m e n t  i s  s u b j e c t  t o  c h a n g e  w i t h o u t  n o t i c e  o r  o b l i g a t i o n .

ZD
IS

 17
    

re
v:

  0
0

ZDIS 17    Rev.00        Pg 1 of 3 Printed in Canada

Z4272...84EDF L/R
Z3660...72EDF L/R

Z4272...84EPF L/R
Z3660...72EPF L/R

A Remove Aluminium Cleat Cover.

B Unscrew and remove leveler. Unscrew and 
remove Leg and aluminium cleat. 

C Untighten Blum Connectors.

D Untighten Minifix Connectors in Modesty 
panel.

E Untighten Blum Connectors  and released 
Faux ped.

F Untighten Blum Connectors  from Faux ped.

G Unscrew Blum  and Minifix bolts.

ALLEN KEY
Size #5

P l e a s e  c o n t a c t  G l o b a l  C u s t o m e r  C a r e  a t  9 0 5 - 6 6 0 - 5 1 0 1  f o r  a n y  q u e s t i o n s  o r  c o n c e r n s .



    ZDIS 17     Rev.00        Pg 2 of 3 Printed in Canada

A

C

D

B



E

F

G

Blum Bolt

    ZDIS 17     Rev.00        Pg 3 of 3 Printed in Canada



1 TOP  1 1 1   PARTICLEBOARD
2 GABLE   2 2 2   PARTICLEBOARD
3 “T” SUPPORT   1 1 1   PARTICLEBOARD
4 GROMMET   2 2 2   PLASTIC
5  LEVELER   4 4  4   STEEL/PLASTIC
6 SCREWS/BOLTS    18  18 18     STEEL
7 LEG   6  6 6   STEEL

 

ITEM DESCRIPTION QUANTITIES MATERIAL

Disassembly  Instructions

Extended Corner Island (T-Base)

Safety Glasses

Rubber Mallet

PHILLIPS
Screwdriver  size  #2 1

2

3

3

5

4
WRENCH

Size  #16 or 5/8”

TOOLS REQUIRED

STEPS

N OT E :  A n y  a l t e r a t i o n s  t o  l i s t e d  c o m p o n e n t s  w i l l  vo i d  t h e  m a n u f a c t u re r ’s  w a r r a n t y.  Th e  m a n u f a c t u re r  w i l l  n o t  b e  re s p o n s i b l e  f o r  a n y  d a m a g e  o r  b o d i l y  h a r m  c a u s e d  b y  a l t e r a t i o n s  i n  a c c o rd a n c e  w i t h  n a t i o n a l  o r  l o c a l  

e l e c t r i c a l  c o d e s  a n d  m a n u f a c t u re r ’s  s p e c i fi c a t i o n s .  I n  a c c o rd a n c e  w i t h  t h e  m a n u f a c t u re r ’s  p o l i c y  o f  c o n t i n u a l  p ro d u c t  i m p ro ve m e n t,  t h e  p ro d u c t  p re s e n t e d  i n  t h i s  d o c u m e n t  i s  s u b j e c t  t o  c h a n g e  w i t h o u t  n o t i c e  o r  o b l i g a t i o n .

ZD
IS

 18
    

re
v:

  0
0

Z-Dis 18    Rev.00        Pg 1 of 2 Printed in Canada

Z4272...84EDT L/R
Z3660...72EDT L/R

Z4272...84EPT L/R
Z3660...72EPT L/R

A Turn unit. Untighten Blum Connectors. 
Unscrew and remove leveler. Unscrew and 
remove Leg.  

B Untighten Blum Connector from support 
panel.

C Unscrew Blum bolts.

ALLEN KEY
Size #5

ZIRA

P l e a s e  c o n t a c t  G l o b a l  C u s t o m e r  C a r e  a t  9 0 5 - 6 6 0 - 5 1 0 1  f o r  a n y  q u e s t i o n s  o r  c o n c e r n s .



Z-Dis 18     Rev.00        Pg 2 of 2 Printed in Canada

A

B C
Blum Bolt



1 TOP 1 1 1 1   PARTICLEBOARD
2 GABLE 1 1 1 1   PARTICLEBOARD
3 MODESTY PANEL 1 1 1 1   PARTICLEBOARD
4 MODESTY SIDE 1 1 1 1  PARTICLEBOARD
5 ALUMINIUM CLEAT / COVER 1 1 1 1  ALUMINIUM
6 GROMMET 1 1 1 1   PLASTIC
7  LEVELER 4 4 4 4   STEEL/PLASTIC
8 SCREWS/BOLTS 28 28 28  28    STEEL
9 LEG 1 1 1  1    STEEL

 

ITEM DESCRIPTION QUANTITIES MATERIAL

Disassembly  Instructions

Extended Corner Island (Recessed and Flush)

ZIRA

Safety Glasses

Rubber Mallet

PHILLIPS
Screwdriver  size  #2 1

2

9

5

73

4

6
WRENCH

Size  #16 or 5/8”

TOOLS REQUIRED

STEPS

N OT E :  A n y  a l t e r a t i o n s  t o  l i s t e d  c o m p o n e n t s  w i l l  vo i d  t h e  m a n u f a c t u re r ’s  w a r r a n t y.  Th e  m a n u f a c t u re r  w i l l  n o t  b e  re s p o n s i b l e  f o r  a n y  d a m a g e  o r  b o d i l y  h a r m  c a u s e d  b y  a l t e r a t i o n s  i n  a c c o rd a n c e  w i t h  n a t i o n a l  o r  l o c a l  

e l e c t r i c a l  c o d e s  a n d  m a n u f a c t u re r ’s  s p e c i fi c a t i o n s .  I n  a c c o rd a n c e  w i t h  t h e  m a n u f a c t u re r ’s  p o l i c y  o f  c o n t i n u a l  p ro d u c t  i m p ro ve m e n t,  t h e  p ro d u c t  p re s e n t e d  i n  t h i s  d o c u m e n t  i s  s u b j e c t  t o  c h a n g e  w i t h o u t  n o t i c e  o r  o b l i g a t i o n .

ZD
IS

 19
    

re
v:

  0
0

ZDIS 19    Rev.00        Pg 1 of 2 Printed in Canada

Z4272...84EDR L/R
Z3660...72EDR L/R

Z4272...84EPR L/R
Z3660...72EPR L/R

Z4272...84EDM L/R
Z3660...72EDM L/R

Z4272...84EPM L/R
Z3660...72EPM L/R

A Remove Aluminium Cleat Cover.

B Unscrew and remove leveler. Unscrew and 
remove aluminium cleat and  Leg with modesties. 

C Untighten Blum Connectors.

D Untighten Minifix Connectors in Modesty 
panel.

E Unscrew Blum  and Minifix bolts .

ALLEN KEY
Size #5

Recessed  Flush

P l e a s e  c o n t a c t  G l o b a l  C u s t o m e r  C a r e  a t  9 0 5 - 6 6 0 - 5 1 0 1  f o r  a n y  q u e s t i o n s  o r  c o n c e r n s .



    ZDIS 19     Rev.00        Pg 2 of 2 Printed in Canada

A

C

D

B

E

Blum Bolt



1 TOP 1 1 1 1 1 PARTICLEBOARD
2 SIDE  2 2 2 2 2 PARTICLEBOARD
3 BACK 1 1 1 1 1 PARTICLEBOARD
4 GROMMET 1 1 1 1 1 PLASTIC
5  LEVELER 4 4 4 4 4 STEEL/PLASTIC
6 SCREWS/BOLTS 10  17 16 17  16 STEEL
 

    Freestanding Connectable Tables

ITEM DESCRIPTION QUANTITIES MATERIAL

Disassembly  Instructions

Freestanding Tables

Connectable Tables

Safety Glasses

Rubber Mallet

PHILLIPS
Screwdriver  size  #2

1

2

2

3
5

4WRENCH
Size  #16 or 5/8”

TOOLS REQUIRED

STEPS

N OT E :  A n y  a l t e r a t i o n s  t o  l i s t e d  c o m p o n e n t s  w i l l  vo i d  t h e  m a n u f a c t u re r ’s  w a r r a n t y.  Th e  m a n u f a c t u re r  w i l l  n o t  b e  re s p o n s i b l e  f o r  a n y  d a m a g e  o r  b o d i l y  h a r m  c a u s e d  b y  a l t e r a t i o n s  i n  a c c o rd a n c e  w i t h  n a t i o n a l  o r  l o c a l  

e l e c t r i c a l  c o d e s  a n d  m a n u f a c t u re r ’s  s p e c i fi c a t i o n s .  I n  a c c o rd a n c e  w i t h  t h e  m a n u f a c t u re r ’s  p o l i c y  o f  c o n t i n u a l  p ro d u c t  i m p ro ve m e n t,  t h e  p ro d u c t  p re s e n t e d  i n  t h i s  d o c u m e n t  i s  s u b j e c t  t o  c h a n g e  w i t h o u t  n o t i c e  o r  o b l i g a t i o n .

ZD
IS

 20
    

re
v:

  0
0

Z-Dis 20    Rev.00        Pg 1 of 2 Printed in Canada

Z3030...72T
Z2430...72T

Z3030...72 L/R
Z2430...72 L/R

Z3030...72N
Z2430...72N

Z3030...72LK
Z2430...72LK

Z3030...72RK
Z2430...72RK

Z3030...72LN
Z2430...72LN

Z3030...72RN
Z2430...72RN

A Turn unit. Untighten Blum Connectors. 
Unscrew and remove leveler. 

B Unscrew Blum bolts.

    Freestanding Connectable Tables

ZIRA

P l e a s e  c o n t a c t  G l o b a l  C u s t o m e r  C a r e  a t  9 0 5 - 6 6 0 - 5 1 0 1  f o r  a n y  q u e s t i o n s  o r  c o n c e r n s .



Z-Dis 20    Rev.00        Pg 2 of 2 Printed in Canada

A

B

Blum Connector

Blum Bolt



ZIRA

1 TOP 1 1 1 PARTICLEBOARD
2 BRACKET/PLATE 2 2 2 STEEL
3 GROMMET 2 2 2 PLASTIC
4 LEVELER 4 4  4 STEEL/PLASTIC
5 SCREWS/BOLTS 17 17 17 STEEL
6 GABLE WIDE 1 1  1 PARTICLEBOARD
7 GABLE NARROW 1 1  1 PARTICLEBOARD
8 BACK 1 1  1 PARTICLEBOARD

ITEM DESCRIPTION QUANTITIES MATERIAL

Disassembly  Instructions

“P”/”D” Island w/ ”H” Base

Safety Glasses

Rubber Mallet

PHILLIPS
Screwdriver  size  #2

1

3

3

6

7 4
8

2

WRENCH
Size  #16 or 5/8”

TOOLS REQUIRED

STEPS

N OT E :  A n y  a l t e r a t i o n s  t o  l i s t e d  c o m p o n e n t s  w i l l  vo i d  t h e  m a n u f a c t u re r ’s  w a r r a n t y.  Th e  m a n u f a c t u re r  w i l l  n o t  b e  re s p o n s i b l e  f o r  a n y  d a m a g e  o r  b o d i l y  h a r m  c a u s e d  b y  a l t e r a t i o n s  i n  a c c o rd a n c e  w i t h  n a t i o n a l  o r  l o c a l  

e l e c t r i c a l  c o d e s  a n d  m a n u f a c t u re r ’s  s p e c i fi c a t i o n s .  I n  a c c o rd a n c e  w i t h  t h e  m a n u f a c t u re r ’s  p o l i c y  o f  c o n t i n u a l  p ro d u c t  i m p ro ve m e n t,  t h e  p ro d u c t  p re s e n t e d  i n  t h i s  d o c u m e n t  i s  s u b j e c t  t o  c h a n g e  w i t h o u t  n o t i c e  o r  o b l i g a t i o n .

ZD
IS

 21
    

re
v:

  0
0

Z-Dis 21    Rev.00        Pg 1 of 2 Printed in Canada

Z3672FI  L/R

Z3060...66FI  L/R

Z3672FIC

Z3060...66FIC

Z3660...72P L/R

A Unscrew and remove brackets/plate.

B Unscrew and remove Leg and Leveler. 
Untighten Blum Connectors.

C Unscrew Blum bolts.

ALLEN KEY
Size #5

P l e a s e  c o n t a c t  G l o b a l  C u s t o m e r  C a r e  a t  9 0 5 - 6 6 0 - 5 1 0 1  f o r  a n y  q u e s t i o n s  o r  c o n c e r n s .



    Z-Dis 21     Rev.00        Pg 2 of 2 Printed in Canada

A

B C

Blum Bolt



1 TOP 1 1      PARTICLEBOARD
2 BRACKET/PLATE 2 2      STEEL
3 GROMMET 2 2    PLASTIC
4 LEG 1 1    STEEL
5 LEVELER 2 2     STEEL/PLASTIC
6 SCREWS/BOLTS 26 26     STEEL
7 “T” BASE PANEL 1 1 1       PARTICLEBOARD
8 “T” BASE PANEL 2 1 1       PARTICLEBOARD

ITEM DESCRIPTION QUANTITIES MATERIAL

Disassembly  Instructions

“P”/”D” Island w/ ”T” Base

Safety Glasses

Rubber Mallet

PHILLIPS
Screwdriver  size  #2

1

3

3

4
5

5

2

WRENCH
Size  #16 or 5/8”

TOOLS REQUIRED

STEPS

N OT E :  A n y  a l t e r a t i o n s  t o  l i s t e d  c o m p o n e n t s  w i l l  vo i d  t h e  m a n u f a c t u re r ’s  w a r r a n t y.  Th e  m a n u f a c t u re r  w i l l  n o t  b e  re s p o n s i b l e  f o r  a n y  d a m a g e  o r  b o d i l y  h a r m  c a u s e d  b y  a l t e r a t i o n s  i n  a c c o rd a n c e  w i t h  n a t i o n a l  o r  l o c a l  

e l e c t r i c a l  c o d e s  a n d  m a n u f a c t u re r ’s  s p e c i fi c a t i o n s .  I n  a c c o rd a n c e  w i t h  t h e  m a n u f a c t u re r ’s  p o l i c y  o f  c o n t i n u a l  p ro d u c t  i m p ro ve m e n t,  t h e  p ro d u c t  p re s e n t e d  i n  t h i s  d o c u m e n t  i s  s u b j e c t  t o  c h a n g e  w i t h o u t  n o t i c e  o r  o b l i g a t i o n .

ZD
IS

 22
    

re
v:

  0
0

Z-Dis 22    Rev.00        Pg 1 of 2 Printed in Canada

Z3672FI

Z3060...72FI

Z2448...66FI

Z3660...72FP L/R

A Unscrew and remove brackets/plate.

B Unscrew and remove Leg and Leveler. 
Untighten Blum Connectors.

C Unscrew Blum bolts.

ALLEN KEY
Size #5

ZIRA

P l e a s e  c o n t a c t  G l o b a l  C u s t o m e r  C a r e  a t  9 0 5 - 6 6 0 - 5 1 0 1  f o r  a n y  q u e s t i o n s  o r  c o n c e r n s .



    Z-Dis 22     Rev.00        Pg 2 of 2 Printed in Canada

A

B C

Blum Bolt



1 TOP 1 1 1     PARTICLEBOARD
2 BRACKET/PLATE 2 2 2     STEEL
3 GROMMET 1 1 1   PLASTIC
4 LEG 1 1 1   STEEL
5 LEVELER 2 2 2   STEEL/PLASTIC
6 SCREWS/BOLTS 24 24 24   STEEL
 

ITEM DESCRIPTION QUANTITIES MATERIAL

Disassembly  Instructions

“P”/”D”/Radius Spanner Island

Safety Glasses

Rubber Mallet

PHILLIPS
Screwdriver  size  #2

1

3

4

5

2

WRENCH
Size  #16 or 5/8”

TOOLS REQUIRED

STEPS

N OT E :  A n y  a l t e r a t i o n s  t o  l i s t e d  c o m p o n e n t s  w i l l  vo i d  t h e  m a n u f a c t u re r ’s  w a r r a n t y.  Th e  m a n u f a c t u re r  w i l l  n o t  b e  re s p o n s i b l e  f o r  a n y  d a m a g e  o r  b o d i l y  h a r m  c a u s e d  b y  a l t e r a t i o n s  i n  a c c o rd a n c e  w i t h  n a t i o n a l  o r  l o c a l  

e l e c t r i c a l  c o d e s  a n d  m a n u f a c t u re r ’s  s p e c i fi c a t i o n s .  I n  a c c o rd a n c e  w i t h  t h e  m a n u f a c t u re r ’s  p o l i c y  o f  c o n t i n u a l  p ro d u c t  i m p ro ve m e n t,  t h e  p ro d u c t  p re s e n t e d  i n  t h i s  d o c u m e n t  i s  s u b j e c t  t o  c h a n g e  w i t h o u t  n o t i c e  o r  o b l i g a t i o n .

ZD
IS

 23
    

re
v:

  0
0

Z-Dis 23    Rev.00        Pg 1 of 2 Printed in Canada

Z3672I

Z3060...66I

Z2448...66I

Z3660...72IP L/R Z62RS

Z50RS

Z42RS

Z60RS

Z48RS

Z40RS

A Unscrew and remove brackets/plate.

B Unscrew and remove Leg and Leveler.

ALLEN KEY
Size #5

ZIRA

P l e a s e  c o n t a c t  G l o b a l  C u s t o m e r  C a r e  a t  9 0 5 - 6 6 0 - 5 1 0 1  f o r  a n y  q u e s t i o n s  o r  c o n c e r n s .



    Z-Dis 23     Rev.00        Pg 2 of 2 Printed in Canada

A

B


	Zdis_17_Extended_Corner_Island_Faux-Ped
	Zdis_18_Extended_Corner_Island_T-Base
	Zdis_19_Extended_Corner_Island_Recessed-Flush
	Zdis_20_Table_Freestanding_Connectable
	Zdis_21_Island_P_D_H-Base
	Zdis_22_Island_P_D_T-Base
	Zdis_23_Island_P_D_Radius-Spanner



